=
<

(0 @) (rad)

=
2
N

o+ : : :
T r i i i
04 r i i i

-2 -1 0 1 2

[—=— DQM_VUUUI_RUUUUO00UT__Global__|
—e— DQM_V0001_R000000001__Global
—— DQM_V0001_R000000001__Global
—— DOQM_V0001_R000000001__Global

3

TP n (PCA to beamline)

a(d cot(d))

H
S
o

, =
081 0 1 2 3
TP n (PCA to beamline)

obal mKFItbase__RECO
—mkFitCHIN _RECO
—mkFitNDOF_ RECO
mkFitNDOFZ__RECO

=
<

SICEWATL

................................................

010\—1%||||||||||||||||||||||||I|||

g A HHHHIHHE 5

o E NI AT
Rk B E— 1 2 3

TP n (PCA to beamline)

~ e

E. .

> E

s [

o

,_.
<
L

2

[TTTT
|
N

3

TP n (PCA to beamline)

z

oo a,) (cm)

1072

1::

10;%_..||| ||||| ||||| ||||! |lll|l Ll
N
3 LG A

R R 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


